Master Maths 9 Worksheet 32

Gradient 1 8 2

Name:
1. For the line joining points A and B on the 3. Calculate the gradient of the lines joining
graph below, find the following: the following pairs of points.
(a) rise (b) run (c) gradient (a) (2,3)and (7, 13) (b) (-1,4) and (2,7)
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) (c) (-3,4) and (-1,12)  (d) (3,-4) and (6,5)
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2. Find the gradient of the lines joining the (e) (-4.5) and (3,-2) () (1,6) and (4,-3)
following pairs of points on the graph below.
(aCandD (b)CandF (c)DandF

(d)DandG (¢)EandD (f)Eand G
(g) (0,-3) and (6,0) (h) (-5,-2) and (5,10)
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(1) (-2,-5) and (8,-9) (j) (0,4) and (5,6)
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